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1. WIHTSIH HOTAT YRAT AT ThASHT [TUHes ATe?

(1) feer (2) sfezm

(3) IR W3 (4) HACH
Which of the following Indian states has a unicameral legislature?
(1) Bihar (2) Odisha

(3) Uttar Pradesh (4) Karnataka

2. BumEs 9o g WTelducl HivTd [Fey 3R
(1) T ST TRATAT ARG A0 EFIh 3R,
) foer Farl dudnT 9Y ot S srardi.
(3) T ST TG [TUHET AdeRAdTd AdqR O QUi ool 0T a3
.
(4) TAGTHT THYLT ST HT ITe.

Which of the following are the criteria to become a member of the Legislative Assembly?

(1) The person must be a citizen of India.
(2) She must have completed the age of twenty-five years of age.
(3) She must be registered as a voter in assembly constituency in the concerned state.

(4) More than one of the above criteria.

3. WSTSURI HIOTAT ITT [T fram=ar sme/ar

(30) 3Ty w=;T (= TSI

) foer () 3T T3
GTAGUhT ARG IR TS

(1) 3T ®7h (2) 31, & MOT & Hh
(3) & 3NOT © Heh (4) 31,9, % T 8
Which of the following States has/have bicameral legislature?

(a) Andhra Pradesh (b) Telangana

(c) Bihar (d) Uttar Pradesh
Select the correct answer using the code given below:

(1) a only (2) a, b and ¢ only
(3) c and d only (4) a, b, cand d
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4. UMY (ATMER) AETl AR ARATdS Aaid Ba [a=_HT 3MTe.

(1) fegr (2) T

ORREIL] (4) TEeRT

The smallest Vidhan Sabha in India, in terms of number of Members of Legislative Assembly
(MLASs), is .

(1) Delhi (2) Goa

(3) Sikkim (4) Puducherry

5. WIOIBUh! IV AT [a=r feafsid svam=r Afar e

(1) ITITS RERIERE RS

(3) T=AHAT (4) TB=F =T, 3T <ATATHT

Who of the following is empowered to dissolve the Legislative Assembly of a State ?

(1) The Governor (2) The Speaker of Legislative Assembly
(3) The Chief Minister (4) The Chief Justice, High Court

6. O dgerh 9&4iT @ [y ReRe =,

(37) STRT TSITAHHT [T f[Teaes AeR ich ST 8T, o STUe! S99l 93 3TehdTd, 3MIo! FHd)
I ITRTd TShaT TETATAT SHARITS! [adde TG og 3hdTd ; 9= IeT [T H S

qHOORITET o [Tdae 9Rd &% 31ehd ATerd.
@ faa Rk SR SR 14 TSawr=r sreadrer o fodas g 2 fhar Tea
T 3R,

TISYRT HITT T TSR 312/A?
(1) 3 Shth (2) ¥ %<h
(3) 37 3nfor & ST (4) 31 3nfor & ST R

Consider the following statements related to a Money bill.

(@) When a Money Bill is presented to the Governor, he may give his assent, withhold his
assent or reserve the bill for Presidential assent but cannot return the bill for reconsideration
of the State Legislature.

(b) At the most, the Legislative Council can delay a Money bill for a period of 14 days.
Which of the above statement/s is/are correct?

(1) a only (2) b only

(3) Both a and b (4) Neither a nor b
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7. Tu aRwe=r dewid @eie fu R .
(3N SR [adues fa aRees #sR &hes SM0T [ hetege o) fadaes 3 g smfor
@ TFuraRye 9Ty SR SR 4 83fee /e &% 2T,
@) TTaraRee [Tdaes wuwd: Aig 21ehd ATar.
TIGUhT IO TG/~ Tohie 3Te/a?
(1) ®h (2) ®th & AT &h
(3) Wth 3T 3MMOT § (4) FH &

Consider the following statements with regard to the legislative council.

(a) If the bill is passed by the council and rejected by the assembly then the bill is lapsed
and there is no option of joint sitting as with the parliament.

(b) The council can delay the bill by maximum 4 months.

(c) The council cannot initiate a bill.

Which of the statement/s given above is/are incorrect?

(1) a only (2) b and ¢ only

(3) a and b only (4) c only

8. WRAN ISTIEA AT A 170 (1) TAR IRATAIS TETT JASATAT [T ATl [hHT
SO AT AT vl 3] IThel?
(1) 60 YT HHT TS 30T 450 Y& ST ATar
(2) 40 YIT HHT TR TOT 450 Y& ST ATl
(3) 60 TEIT THHI ATl 0T 500 U&TT ST ATl
(4) 40 YT THHT ATET 3TOT 500 Y& ST ATar
What can be the minimum and maximum number of members in a legislative assembly of
a state in India according to art. 170 (1)?
(1) Not less than 60 and not more than 450
(2) Not less than 40 and not more than 450
(3) Not less than 60 and not more than 500
(4) Not less than 40 and not more than 500
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9. IS [AuaURYe AT FROT fhaT Ig FROAET ATUHRR ATSIGUST HhIvTHhe 3R?
(1) T HATEN gRYE (2) AT SIS
(3) 5T fam==gaT (4) RA™ IEIAT

The power to create or abolish legislative council in the state is vested with which among

the following?
(1) Council of state ministers (2) Governor of the state

(3) State legislative assembly (4) President of india

10. RATAIS TETET ISUTAT [ e=aT de4id, Wiele [u ff=mRra =im:

(37) TUTSAT UTgedT JATSAT URHT AFYAT TEATHAT TSI A4 {7 FHIdT.
@) ST TEET I [FUHesNT tErEr [ARE AR FEE 9909y, 9= 9 31 e
Fega=T NI ITT .

TGB! HIvTd TTUTT IR 3MTR/3RA?
(1) 3T <h 2) ¥ Bth
(3) 31 37T & ST (4) 37 3OT F TR

With reference to the Legislative Assembly of a state in India, consider the following
statements:

(a) The President makes a customary address to Members of the House at the commencement
of the first session of the year.

(b) When a State Legislature does not have a rule on a particular matter, it follows the Lok
sabha rule on that matter.

Which of the statements given above is/are incorrect?

(1) a only (2) b only

(3) Both a and b (4) Neither a nor b

11. 5T U HeaNT S9enT, IO, hletadl, MUasl, SEted!, euesr anfor sfuwr
AT HATIT TGS hAH v ATed?
(1) AT 168 T 212 (2) HAT 53 o 112
(3) HAT 124 T 147 (4) AT 101 o 121

What are the articles that deal with the organization, composition, duration, officers,

procedures, privileges, and powers of the state legislature?
(1) Articles 168 to 212 (2) Articles 53 to 112
(3) Articles 124 to 147 (4) Articles 101 to 121
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12. TAUTEEST IS WSS IO TSR Iad?
@ o ey die |y 7 Jieune Sifaq sawhl AT,
@) T U e e TiER Mot gara ey @ Fel |=mErede
TIRTIBh-TAT ST ATEL
RIS
(1) A Thh
(2) ¥ h
(3) 3T 30T T gl
(4) FAHUHT Tehgl ATEr

Which of the following powers are enjoyed by the speaker of the Legislative Assembly?

(a) He is the final interpreter of the constitution within the assembly.

(b) He decides over the questions of disqualification of the members of the legislative
assembly and his decision is not subject to judicial review.

Answer options :

(1) Only a

(2) Only b

(3) Both a and b

(4) None of the above

13.  WSIHUHT DT [T/ <=/ 3e?
(37) TS TSTHAEAT WHTYET [auRees T [AuHesrd Hal W 3.
@) forar aReeT T JAEE Ao X g1 auf gad A9edHar Had gidrd.
EEIRIIEGES
(1) 37 37T & ST (2) 3T 3T F YT Tehal ATer
(3) h 3 (4) ®th ¥

Which of the following is incorrect?

(a) Legislative council has a lesser position in the state legislature than the position of Rajya
Sabha in the Parliament.

(b) One third of the members of the legislative council retire after the expiration of every
second year.

Answer options :

(1) Both a and b (2) None of a and b

(3) Only a (4) Only b
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14.  RIUTAT HAHTT JISATAT TMYE ATYH [T d=qg 3e?

(1) <A 202 (2) ShHH 203

(3) hsH 204 (4) Sh3H 201
Which article provides for the annual financial statement of states?
(1) Article 202 (2) Article 203

(3) Article 204 (4) Article 201

15. WSIGUhT BT TUF/A SRS 3Me/a?
(37) T TATIHEAT=AT T THIIETe AT [TU¥ehase AaHE AT STedTd, ged alel
TYETAT JAgTh JShTal hIvTdTal A0 ITsT ATar.
@) StegT e gATaeRTY Ureass St dgl AT JISTUT T haed Mdarar =er fFesar.
AT 3
(1) Fh 2) Fh
(3) 31 AMOT F =l (4) IS Thel ATer

Which of the following statement/s is/are correct?

(a) In case of a deadlock over an ordinary bill between the two houses of a state legislature,
the constitution provides no mechanism of joint sitting of the two houses.

(b) The governor of a state enjoys only suspensive veto when the bill is returned for
reconsideration.

Answer options :

(1) Only a (2) Only b

(3) Both a and b (4) None of the above

16. Taae aRvee =TS fohdl 3RAA?
(1) T oY= TSI U Itz nfor fha Seas 40 3a% Fied & 3R,
) FrumTeer SEaerer o [ I=Tes 40 g [igd e 3.
(3) Iy IS sET Uh UIHiET T fhA TEe 40 3 Mg e 3TE.
(4) IO ISATTSTAT Teh JArdizT 0T AT IATES 40 3dSh MIEd e 3T,
What is the strength of the legislative council fixed at?
(1) One fourth of the strength of the legislative assembly and the minimum strength is fixed
at 40.
(2) Half of the strength of the legislative assembly and the minimum strength is fixed at 40

(3) One fifth of the strength of the legislative assembly and the minimum strength is fixed
at 40.
(4) One third of the strength of the legislative assembly and the minimum strength is fixed
at 40.
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17. U IR IHEATES WU HIoTd [TumT T 3e?
(1) THUT TEATIHT 5/6 TG UL Fagdy ST,
(2) T RS =T T [Tumader [Rfga o s,
(3) AT HHTS ATOT TR HITST Hai" AT IH M hol 318,

(4) IIAHUST Uehal HATal.

Which of the following statements is true about the strength of the Legislative Council?
(1) 5/6 of its total members are indirectly elected.

(2) Its actual strength is fixed by the state legislative assembly.

(3) Its maximum and minimum limits have been fixed by the Supreme Court.

(4) None of the above.

18. APIAER I FUHHT fIAfSid F=Roarl dRdg AUl Hord q 3T
(1) ST 256 (2) FEH 356
(3) S&H 150 (4) HHT 251

The article in the constitution that provides for the dissolution of a state assembly by the
president is :

(1) Article 256 (2) Article 356

(3) Article 150 (4) Article 251

19. o AU IR =,
(37 TS SFONETONT HTBId, T AU ad=T HTatael ThT Jol Teh IuraT ot

1Y el

@) 2 1€ Beh S JoaT 3T I,

FAGTRT BT/l T/~ SRR AT

(1) oh A (2) Bth &
BEEEE G (4) T T T Il ATerd

Consider the following statements.

(a) During national emergency, the parliament can extend the term of legislative assembly
by a period of one year at a time.

(b) This extension can be done only twice.

Which of the statement/s are not true?

(1) Only a (2) Only b

(3) Both a and b (4) Both a and b are not

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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20. WTSIGUDT HIvTd/dT faam/4 sRIER 3e/a?
31 FraTaRed= e 2varer Jxhid AT 9 25 a9 3.
@) RPA (1951) W -[E hohedl HRUMRAT AT [TUTFRTHAT ASTAT AT TR
U HOT gard.
() TETAT FRATADIT 5T [TIFRIY=AT AT AT FHER I [T aiReed
3TeTET STOT o [y d Tl SadTd.
EEIRIIES RS
(1) %<h 3F for &
(2) ¥ 37T & Hh
(3) 3, § 3MOT &
(4) TS T

Which of the following statement/s is/are correct?

(a) Minimum age for a person to be a member of the legislative council is 25 years.

(b) The question of disqualification of members of state legislative assembly on the grounds
mentioned in RPA (1951) is decided by the governor.

(c) The question of disqualification of members of state legislative assembly under the Tenth
schedule is decided by the Chairman (in the state legislative council) and by the Speaker
(in the state legislative assembly).

Answer options :

(1) a and c only

(2) b and ¢ only

(3) a, b and c

(4) All of the above

21. AT 9T ATYEA [T qOT T

57 fafde™r  HoTder e IRareiRET SAHIT HATTIETST aq
JSHHAT FFIRIT e A TASTd T SO R O Afd Host 13 21w

(1) o e (2) 1S o=t

(3) 992 feas (4) ST feawT

Complete the following statement by filling appropriate option.

The seat of any member of state legislature can be declared as vacant if he remains absent

from all its meetings for a period of Days without permission.
(1) Thirty days (2) Sixty days
(3) Ninety days (4) Forty days

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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22. 3T UMORYedIe IR AMMEIN hedMT, IST9TS T FeoTg foay
A TohaT SMaeiRe ¥ d 3Tohedl BT [99R hedTd.
(31 HfeT @) d&
@) = @) FHST
@) JePRT TBIS () HHTST FaT
T g e
(1) IHURT I Q) 3d, T8 3%
(3) A, F S 3 F 4 F,T,F 3 ®

While nominating a member in State Legislative Council, Governor considers person having

special knowledge or practical experience in respect of

(a) Literature (b) Sports
(c) Science (d) Art
(e) Co-operative movement (f) Social service

Choose correct option
(1) All of these (2) a, b,d, e, f
(3)a cd e f (4) a, b, c,d, f

23. WISIGUhl HoTd [y S 3e?
(37) IS 7 TTUH URNee USieg 3Tl 3TIdTd.
@) TR 3Te [a IRESd 3TeeT TUa! S .
@) T g aRg = AeiyT | e Hee.

T 3R
() 3T anfor 9 (2) 31 3nfor &
(3) Fh & (4) TTYHT TR

Which one of the following statements is correct?

(a) The Governor is the ex-officio Chairman of the Legislative Council.

(b) The Speaker of the Legislative Assembly also acts as the Chairman of the Legislative
Council.

(c) The State legislative Council elects its own Chairman from amongst its members.
Answer options:

(1) aand b (2) a and c

(3) Only c (4) None of these

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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24. WSS [T TeRE &,
(37) \RAMIG TERT IAm™l [T qaradia Tafed eed™, Jeie [y =
RTO=T Uiehdadd IHIdT geraR Jradrd.
@) TIa=a= 3remeT ST AT a2l o A 95 [ e=ar SUaTIdi-aT qreadrd.
TR ST TTUUHr v T=IeR 3R/3MR?
(1) ®eh 3
(2) 37 3nfor & Sr=r
(3) T &
(4) 37 3AMOT F <2l AATer

Consider the following statements.

(a) If the Legislative Assembly of a State in India is dissolved in mid-term, the Speaker
continues in office till the process of formation of the next Legislative Assembly.

(b) When the Speaker of a Legislative Assembly resigns he addresses his letter to the
Deputy-speaker of the Assembly.

Which of the statements given above is/are correct?

(1) Only a

(2) Both a and b

(3) Only b

(4) Neither a nor b

25. TIOIEIT STSTATETEd QWIo® [4TIUeh! SHIoTd [ Jenie 3TTe?
(1) TSI e URTaRT §X HROATE] SR04 [MERTYN  AAAET AFT AIRET
TERYT RIHRAT JUTR ATET.
(2) HT AYFIETA IURYT G HIFRISTA [T I IOTR el
(3) AT 320 SATER 3T AT THIEETIHTIT Teh UTeedTd hld Aded &dl J5a.
(4) AT 373 SEATIR FH FH Iq 9ol eiedr Fonges gq 2471 IR ATa).

Which of the following statements about the Speaker of the Legislative Assembly is incorrect?
(1) The speaker of the Legislative Assembly cannot assume the presidency of the House
while the resolution to remove him from office is under consideration.

(2) They cannot be present in the hall and participate in the proceedings.

(3) On such a resolution he can vote in the first instance like any other ordinary member.

(4) He cannot cast a casting vote in case of tie on such a resolution.

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.
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26. YOS TR (AHUAN) Wiols [Fu fa=aRTd &
(37) AT U A AEd Ao a3 AT 3 U8 Rth $hild BIId.
() ATIAT TSI, AT TR ST TSI, ISTITSRT T HIOTATE! Jool T IS,
(@) T RIS=AT B9 MG AAGH HROTAT AGHTAT TgHAT S19 TR He AT TS
R FT I3 .
@) TIEHET TR IROARIGUET S0, A AT 83T HB A, e THh Afgardr
ST 0T TR HISHT SO T8

FRIGTRT Do g / fra™ sRiex stmea?
(1) 31, & 37O & (2) 31, & AMOT ©
(3) ¥ 3nfor & (4) T<h 3T

Consider the following statements about the Speaker of the Legislative Assembly (Chairman).
(a) If his membership of the Legislative Assembly ceases, he has to vacate his office.

(b) Resignation of his office, in writing under his own signature, addressed to the Governor
at any time.

(c) He may be removed from office by a resolution passed by a majority of the members
present and voting in the Legislative Assembly.

(d) A resolution for removal from office shall not be moved unless at least one month's
notice has been given of the intention to move it.

Which of the above statements are correct?

(1) a, b and ¢ (2) a, cand d

(3) b, c, d (4) Only a

27. Y foUrHER [92iY agHd uTSt Hr
(1) IR 3N FAASTT HROTAT ASATURT I JAMATET TSI BT AT 07 IIH 38
STOT & FAT AT FHPIETAT THUT HS §THAAT Sgae A0 A3 IATe.
(2) JUTRAA SMTOT FAAGT FROTAT AT T JATATET TGN BT A Q0T AT h 3MTE.
(3) IR IOT AAGH FROMAT TSATIDT T JATATST TSI T 7T 0T aTeh 378
IO T ASHTAT THOT ASH TN G izl 9gad A0l AT TR,
(4) TAHURT HIEET TEr

What does special majority mean in state legislatures?

(1) Two-thirds of present and voting members must vote yes, and this number must also
constitute the majority of the total capacity of membership of that House.

(2) Two-thirds of present and voting members must vote yes.

(3) Two-thirds of present and voting members must vote yes, and there should also be two-
thirds majority of the total capacity of membership of that house.

(4) None of the above.
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28. Wl T faamra = Snifor g foram stresa.
(37 T [Aferigerer a9 AfEazHmde R 3fae 6 AfR=aTdelT STRd 3= 2Tohd HTal.
@) T RIS auTae R gFer IR uaiaiET S dde Ui,
g 3N
(1) 31 &tH
2) T Fh
(3) 3T 30T & rgr
(4) 37 3707 & FEr AR

Consider the following statements and identify the incorrect statement/s.

(a) The minimum gap between the two sessions of the state legislature cannot be more than
6 months.

(b) The state legislature should meet at least twice a year answer options.

(1) a only

(2) b only

(3) Both a and b

(4) Neither a nor b

29. HUTdEl [T9TS YSNd arT [uar afSia s @) Fdaer a7 2o
(1) Ford=eh 3 2.
) faredae g=ar e TId Jeied ITed.
ORECEERE IR RS CETEAC ICE AT L)
(4) IIHUHT FHIRIRl ATal.
If the legislative assembly dissolves while any bill is pending, then what becomes of the

bill?

(1) Bill lapses
(2) Bill remains till another session
(3) The Bill is sent to legislative council

(4) None of the above
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30.

HRY BN HeAd RST [TUHIHHEe) IUSd JAgTHS! AEa3ah TSl ISl
AT =T 3R,

(1) 20 Feg TohaT HS-TAT =<7 Teh 20137 (WIS ATUHh=ATHE) ITehl SiT ST 3T
Ar T

(2) 10 Fe=g ThaT He-T=aT =<7 Teh 20137 (WIS ATUHh=TdE) ITehl SIS 3T
dr T

(3) 20 TS ThaT HeATeaT ST Udh T3N3 (WSTE ATARRT T9egT) ITdehT ST Sired
IS dF HeEA

(4) 10 I ThaT JeAT=aT A= U 20l (UerRi Ifearl a9Teg) St Sied 3ds o
ar =

Quorum i.e minimum number of members required to be present in the house (for state

legislative assemblies) is
(1) 20 members or one-tenth of the house (including presiding officer) whichever is greater

(2) 10 members or one-tenth of the house (including presiding officer) whichever is greater
(3) 20 members or one-tenth of the house (excluding presiding officer) whichever is greater

(4) 10 members or one-tenth of the house (excluding presiding officer) whichever is greater

31.

JTAITGTAT ARTTYOER. T=T woarTe! fRast =9 fXar soeT aver
37 fTdTes fhar fadgs gievarT uRareiT HealauardTer U fhaT 39 Y=dTd {ToTdT Idie
@) a9t I ATl fhaT df 9@ 9T eargdr

ITaTRes WEUTT AR HHBIST BT IS

T 39Y
(1) TG 37 SRIER 38 IXq & I ITe. @) e § SRR g 7 TH TR,
(3) 31 3MOT F Sl [Tu S=Ie% 3. (4) 37 30T & gl far I 3Ted.

Even if a day is alloted to discuss the Governor's address:

(a) One or more motions may be moved for permission to introduce a bill or bills and the
bill or bills may be introduced on such a day.

(b) The Legislative Assembly may conduct other business of a formal nature before
commencing or proceeding with the discussion of the Governor's Address.

Answer options :

(1) Statement a correct but b incorrect (2) Statement b correct but a incorrect

(3) Statement a and b both are correct (4) Statement a and b both are incorrect
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32. WISl HIUTd [T9 e 38 2
(1) SR e 9 H9R shoves AT {99 (ordinary bill) e aise= thetesds stoan
A AT ASREr & ARl a% AU AT IT o odud 6eR $ed 99N dRuaws
BIGIEGE
(2) ST YR SR o f99geh g1 foar aR¥e thelesdy YaT 14 fQa=ai=ar g HsR
o5 TATer A o s S TIREHT HSR ey 318 3T THSIe) ST
(3) SR g aRwe #9R Fhoves [adae [ Tvehe HeRIwTer ureide; SToT o fum ¥+
theTeses a3 T [egshrar ad= 3id grdl.
(4) IIHUHT Thel Tal.
Which one of the following statements is incorrect?
(1) If an ordinary bill is passed by the Legislative Assembly and the Legislative Council

rejects the bill or does not pass the bill within 3 months, the Legislative Assembly may
again pass the bill and transmit it to the council again.

(2) If on the second occasion, the council again rejects the bill or does not pass it within
14 days,the bill shall be deemed to have been passed by both houses.

(3) If a bill passed by the legislative council and transmitted to the Assembly and rejected
by the Assembly, there is an end to the bill.

(4) None of the above.

33. [T fEsHaR [Tdes TE v g RUdiees I fJue e
@3N I "eR Foe, R U Uk Yeied Tes [9d9us g 2.
@) frae 9Rwed UoEd sRIees IR [T9e = #eX 7 hoves (99 I &
@) g 99 P (UERIEATHS ) [haT Iel THREHT 9Rd $hody [Tdas
(e e o) IR, 99T fhaT I HAARITSr TS 39w, O [adaw I g

TEr.

T 3R

(1) 3T 3O § Weh 2) & for &% wh
(3) 371 N7 & &h (4) TS FT

Select the correct statements about the position with respect to lapsing of bills on the
dissolution of the Legislative Assembly.

(a) A Bill passed by the Legislative Assembly but pending in the Legislative Council lapses.
(b) A Bill pending in the Legislative Council but not passed by the Legislative Assembly,
lapses.

(c) A Bill passed by the Legislative Assembly (in a unicameral state) or passed by both the
houses (in a bicameral state) but pending assent of the Governor or President does not

lapse.

Answer options:

(1) Only a and b (2) Only b and c
(3) Only a and ¢ (4) All of the above
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34, WSIGIHl HIOTAT FHS 0T TsAIHSS a1 e FHH Ulsham TR ITeedr Siard ?
37 TETs fodgae (7Y [adaes AR HTARr THFRM IRT s ST
@) T TITH Feh HAS TIFIETT (GIhTHT 0T [T Towd: A6 ey ST,
(@) AT [T HoTdTer H3 TIET WP TG HER sheh T3 3Tehd.
@) A TR TIFRMHE TaRIT=T e@Ear qel TIREET 99th J6& 2l
T

T 39
(1) b 3, & 3nfor & (2) %t €
(3) Bh & AT S (4) TSUDT T

Which among the following are the common procedures for both the Parliament and the
State Legislature?

(a) A bill (not a money bill) can be passed in either House.

(b) Money bill can only originate in the Lower House (Lok Sabha and Vidhan Sabha).

(c) An ordinary bill can be introduced either by the minister or private members.

(d) At the point of a deadlock between the houses over an ordinary bill, there can be a joint
sitting of both Houses.

Answer options :

(1) Only a, b and ¢ (2) Only d

(3) Only ¢ and d (4) all of the above

35. WIGIAUD! HIVTAT ST FTAT AT [T TREE IRERA ool A8 2
(37 afge S
CREIE]
() BTG
T 3T
(1) <h 3, & (2) ®7h 9, <h
(3) h 3, & (4) TSTDT T
Which of the following States have abolished the Legislative Council in their State?
(a) West Bengal
(b) Punjab
(c) Tamil Nadu
Answer options:
(1) Only a, b (2) Only b, ¢
(3) Only a, ¢ (4) All of the above
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36. HIVTATE TSATAIS [HUMURYE TSR TIR ol S
(1) IR, SR HardId I T 19 FAd el a3
(2) T ITSTTAT ASTUTATHT TN AT TIASEIY.
(3) ST FIUA9ER W,
(4) T [TUHENER SO Fa= AT AT hedTa

Legislative council in any state is created by:

(1) The parliament, if the concerned state passes a resolution to that effect.
(2) The parliament, if the governor of the concerned state wishes so.
(3) The state legislative assembly on its own.

(4) The state legislative assembly and then agreed by the president

37. TSI AT RS e g7 3gvareaEg @eie [aue fSere =

@) P! [TITFRIST IS THAT I3 2hdTd [hdl [TSTST MIST FHAT ATHRS 3TehdTd
TohaT o7 TaveaT=aT THF[E ohal TPl JATHaRITe! [99e IRd S 3.
@) Sl TErR F9gs 3R WA %o S, d@r dF Jiedrer Slaadid F9RE fhar
THNEHT TR GATGdR HRET ST,

@) 3TN TITHRIGT AFTAT FAHAT 0T SRR AT bl ATel ATl ge-d Igd el

TIASHTHRT HIOT TTIT/A R 3R/ MTRd?
(1) Wth 37 3T & 2) B T
(3) TAAURT HTalel ATar (4) Bh &

Consider the following statements about a bill reservation by the governor for the consideration
of the President.

(a) The President may either give his assent to the bill or withhold his assent to the bill or
return the bill for reconsideration of the House or Houses of the state legislature.

(b) When a bill is so returned, the House or Houses have to reconsider it within a time
period of three months.

(c) It is not mentioned in the Constitution whether it is obligatory on the part of the
president to give his assent to such a bill or not.

Which of the statement/s above is/are incorrect?

(1) a and c only (2) b only

(3) None of the above (4) c only
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38, WISTSUTRI HIOTdl [T/ T T 3Me/a?
(37) ST A TS hohedT HIEl ATl [Ueeh IPIATAT 99 AolRi=d Is9 faram=rsd
AISHT TS JehdTd.
@) AT IS AT ST FTST AP 8l ATer ohar fafEre 9ge 71T stareiRig
ST B ATEr 3T 33T S0arm fUaR SIS 3R,

GTo5ie I g 3 Haer:
(1) 3 Fh 2) ¥ T
(3) 3T AT & Sl (4) 31 3o § LT ATer

Which of the following statements is/are true?

(a) Bills on certain matters enumerated in the State List can be introduced in the state
legislature only with the previous sanction of the President.

(b) The Governor is empowered to direct that an act of Parliament does not apply to a
scheduled area in the state or apply with specified modifications and exceptions

Choose the correct answer from the options given below:

(1) a only (2) b only
(3) Both a and b (4) Neither a nor b
39. WIAHGUh! HIVTAT HRART TSaTd [TU-_I=aT Aaifersh SO STea?
(1) 7T g3T (2) Y gazT
(3) FACH 4) IR U
Which of the following Indian state has the maximum number of Vidhan Sabha seats in the
House?
(1) Madhya Pradesh (2) Andhra Pradesh
(3) Karnataka (4) Uttar Pradesh

40. Grore foyum =R =11 ey ang fJue s,
(31) 1956 AT 7 ST TSl HIEU THAULNT [T IRTSHT TRAG ol
@) TET T T3 AT (GaeA [T 3Te.

T 3
(1) ®th & (2) ®th 3T
(3) 3T 30T & Srar (4) 37 3MMOT § SaT AT

Consider the following statements and identify the correct statement/s.

(a) The 7th Amendment Act of 1956 provided for a Legislative Council in Madhya Madhya
Pradesh.

(b) Currently Madhya Pradesh state has a bicameral legislature.

Answer options:

(1) b only (2) a only

(3) Both a and b (4) Neither a nor b
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41.

Hoe [T =T =

(3T) 104 ST TSGR HITATYA, SR IIG!-SSTT TSI 9 fra=erdd I gfaHiaa
TS dR TSI S AT ASATEAT ASTUTAIhg AT hes ST 374,

@) RAT ATIHTAT 104 AT FeEAGERAM I [TUHA9dle SFal-glea-asrs= 3TRaoT
T o

TIASHURT U T TRIIR/ATE?
(1) 3T FH ) T FH
(3) 31 3nfor & ST (4) TISIHT THer TRl

Consider the following statements.

(a) Prior to the 104th constitutional amendment act, two members from the Anglo-Indian
community used to be nominated by the governor of state if the community was not
adequately represented in the state legislative assembly.

(b) the 104t Amendment of the Indian Constitution ceased the reservation of seats for the
Anglo-Indians in the State Legislative Assemblies.

Which of the statements above is/are not correct?

(1) a only (2) b only

(3) Both a and b (4) None of the above

42.

GTHIAUh! hHIVTAT TeATGERAT 5T [FUHaHd ggf~d Sl o Tggi=d STl
(31) 959 TGS @) 104 T GSHATGSEIN

() 42 & gSAIGHHT (©) 62 AT TGS
PR IE RS

(1) 3,9, &, s (2) 3, 9, &
(3) 3, 9, s 4) ¥, %, s
Which of the following constitutional amendments deals with the reservation of Scheduled

Castes and Scheduled Tribes in the State Assembly?

(a) 95th Amendment (b) 104t Amendment
(©) 42d Amendment (D) 6214 Amendment
Alternative Answers:

(1) a, b, c, d (2) a, b, ¢

(3) a, b, d 4) b, c, d
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43, WSS fau fa=aRTd @ snfor arddr wrord/dr a s T/a o i,
@) R 9w g A9 [A9as e & AR 8 oxawaEr dfq dfveRr Sy
TH®RS IR,
@) IFARYE FTURIhHeaTar T9r He 3Hhd 0T FSHTAT ARTIFER AAGT He 3.
@) TTITIREE RATSAT P! 0T ISTTHAIS ASATAT HTATHI=AT MaSuLehid vHT 9.
T 3N
(1) ®h & 0T & 2) T
(3) Th 3T ST (4) Teh 3T

Consider the following statements and identify which of them is/are correct.

(a) The final power to decide whether a particular bill is a money bill or not is vested in
the Speaker of the assembly.

(b) The council can discuss the budget and vote on the demands for grants.

(c) The council participates in the election of the president of India and representatives of
the state in the Rajya Sabha.

Answer options:

(1) b and ¢ only (2) b only

(3) a and c only (4) a only

44. TS U =R = m.
(37 TG I [AfHes FRMitarR Isar geiaath ST Isu9=ai-T oo 3Med.
@) T f[TurH s R MieaR Tt IS Sdle [ STTdTd St s [T S e
JATIHTST AT 3TTed.
TSR T TS SRIER 3TMe/3TMed?
(1) % T (2) Bh &
(3) 3T 3OT F Sl (4) THURT TehgT TRl

Consider the following statements.

(a) The Constitution has extended the privileges of the state legislature to advocate general
of the state and state ministers.

(b) Privileges of the state legislature are also extended to the governor of the state who is
an integral part of the state legislature.

Which of the statements above is/are correct?

(1) a only (2) b only

(3) Both a and b (4) None of the above
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45. WAHGUHT T AHEH [RNTaRR 57 R v rR mea?
(30) o I FRATET TASEl ST I} IhdTd A0 FHlel AT qreiaR a
FRUGRATST IH S3ehT TSI hes hdTd.
@) o AT HEAYgdT ST ITAT HIHFSIT NI HLUATHATS 3NOT 373 YhroTaR Hor
TIRATST A 9 3TehalTd.
@) O TSIAT a9 IRG BbHET ATHAT [SNTYaRe 3Ga- hoedlags [hal ATl
T HATES B, IUS [hal HRMEAT (FS==T I19did Hoed fhar s
3ET) Brer &% zrehdr.

(€) T TETAT AT 7S, 3T, YT, THITART 0T eohdl @Rd AT WTe Hoarm
ATIRR 3R,

R IDIIRE S
(1) 3, % AT g ) 3, & AT H
(3) F, H AT § (4) A, ¥, F, S

Which of the following are collective privileges belonging to the houses of the state
legislature?

(a) It can exclude strangers from its proceedings and hold secret sittings to discuss some
important matters.

(b) It can make rules to regulate its own procedure and the conduct of its business and to
adjudi- cate upon such matters.

(c) It can punish members as well as outsiders for breach of its privileges or its contempt by
reprimand, admonition or imprisonment (also suspension or expulsion, in case of members).
(d) It has the right to receive immediate information of the arrest, detention, conviction,
imprison- ment and release of a member.

Answer options:

(1) a, cand d (2) a, b and c

(3) b, cand d 4 a, b, c, d

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



23

EINER R ECIRIEEIR

46.

Woe [T =R =1r nfoT @rdehr SivTd/dar Tee e/ o ST,

(30 I5T g geEr sy iHssr=r fadzmeR=E anfor At 9%
29T 60 feasg edt Sfor 3T TIeEe S9edar 60 TRaEdR ceh &hdl Id Aral.
@ & RWieR Ramit yexvims T wisieR! e e fhar uideaards Tehd
SRS IURT TR

T 39

(1) ®th (2) W<h 3T

(3) 37 3nfor & gr=r (4) 37 3nfoT & g2l ATer

Consider the following statements and identify which of them is/are correct.

(a) Members of the state legislature cannot be arrested during the session of the state
legislature and 60 days before the beginning and 60 days after the end of such session.
(b) This privilege is available both in the civil cases and in the criminal cases or preventive
detention.

Answer options :

(1) b only (2) a only

(3) Both a and b (4) Neither a nor b

47.

GTSIHUDRT HIoTdT fa™ SRS ATera?

(37) ST ASATAT ATIRd 9T, BT Thar gusi a1 =9 g _vdies srargRIer=
HTST WA GISd hedTl 3.

@) T, GBI ATUSERT ASHTST ATAT ATTHIYNT THRETAT TSITSd HRoar= XA
T3 ZThard.

(@) TUSI & ATIAT IR & STl Sl 9§ BT & Sudral TYUhR AT [T RIS

ATE.

T 3R

(1) ®<h (2) ®<h A7

(3) ®h § (4) TASTHT THer el

Which of the following statements are not correct?

(a) The Constitution has declared the official language(s) of the state, Hindi or English, to
be the languages for transacting business in the state legislature.

(b) However, the presiding officer can permit a mem- ber to address the House in his
mother-tongue.

(c) The state legislature is authorized to decide whether to continue or discontinue English
as a floor language.

Answer options:

(1) c only (2) a only

(3) b only (4) None of the above
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48. TS [Ty =R =m.
(37) ST ANRLETET df e T, AT THF[EMAT HIThTSId HAT 9T 93, 3Tehd HTa.
@) HIOTATE TIRETT TG TASAT HAT el THFIEAT HITehTSITd 9T ©35 3Thdl.
ERIZEE RN CIRECIE R E RS G
(1) Hh 3T Q) T
(3) 3T 3T & Sl (4) 3T 3TITOT & bl TS

Consider the following statements.

(a) A minister can not participate in the proceedings of a House, of which he is not a
member.

(b) A minister, who is not a member of either House, can participate in the proceedings of
both the Houses.

Which of the above statements are correct ?

(1) a only (2) b only
(3) Both a and b (4) Neither of a and b
49. SireT S[eEaT.
(31 FST 169 EINEFEIPEREERY
@) HST 200 (i) IXh, Afdh, ST S
@) HAT 202 (i) TIar gRkwe 3g o7 fohar =TT oy
) FSH 205 O REIRIREGI
@@ ®D O
(1 i ii iii iv
(2) ii iii iv i
3) iv i iii ii
4) i iv i ii
Match the pairs
(a) art. 169 (i) annual financial statement
(b) Art. 200 (ii) supplementary, additional, excess grants
(c) Art. 202 (iii) Abolition or creation of legislative council
(d) Art. 205 (iv) Assent to bills
@ G © @
(1 i ii iii iv
(2) ii iii iv i
3) iv i iii ii
4) iii iv i ii

T HHTETS! ST /| SPACE FOR ROUGH WORK P.T.O.



25 =T He IRaR
50. Todrigerar gerer dol AR SIRT SRodrl ISl ATIRR ARA AfTr=r=r
SR STy TH TS BT IR
(1) IS 123 (2) FTT 213
(3) BT 312 (4) BT 211

Power of governor to promulgate Ordinance during recess of legislature is mentioned in

article of the indian constitution.
(1) Article 123 (2) Article 213
(3) Article 312 (4) Article 211
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